
INSTALLATION INSTRUCTIONS

209 W. EASY ST., ROGERS AR 72756  •  www.EVERYTHINGBUTLIGHTS.com

PATRIOT PRODUCTS USA     LAW ENFORCEMENT PRODUCT & VEHICLE SPECIALISTS
A Division of Patriot Enterprises USA

1. Start by removing the (2) Factory 1/4” nuts and 
carriage bolts using a 7/16“ wrench or socket. 
Remove the ones on the top section in the outer 
position of window frame on partition.

3. Tighten hardware completely.

PARTS LIST
(1) ASSEMBLED WEAPON MOUNT

(1) MOMENTARY SWITCH

(1) LOCK TIMER

(2) 3/4” DELRON SPACERS

(2) 1/4”-20 x1.75” CARRIAGE BOLTS

(2) 1/4”-20 WHIZ NUTS

Installation Instructions
Partition M4/AR15 Mount- GR2-ARH-BLM

2. Insert the 1.75” carriage bolts thru now open 
holes in partition, place delron spacers on bolts, 
and position weapon mount on these bolts with 
tabs of weapon mount rail down.  
Secure to partition with the whiz nuts.

GR2 - ARH - BLM

(2) 1/4”-20x1.5” CARRIAGE BOLTS

2. Insert the 1.5” carriage bolts thru now open holes 
in partition, place delron spacers on bolts, and 
position weapon mount on these bolts with tabs of 
weapon mount rail down. Secure to partition with 
the whiz nuts.

1. Start by removing the (2) Factory 1/4” nuts and 
carriage bolts using a 7/16“ wrench or socket. 
Remove the ones on the top section in the outer 
position of window frame on partition.

3. Tighten hardware completely.

INSTALLATION INSTRUCTIONS

209 W. EASY ST., ROGERS AR 72756  •  www.EVERYTHINGBUTLIGHTS.com

PATRIOT PRODUCTS USA     LAW ENFORCEMENT PRODUCT & VEHICLE SPECIALISTS
A Division of Patriot Enterprises USA

1. Start by removing the (2) Factory 1/4” nuts and 
carriage bolts using a 7/16“ wrench or socket. 
Remove the ones on the top section in the outer 
position of window frame on partition.

3. Tighten hardware completely.

PARTS LIST
(1) ASSEMBLED WEAPON MOUNT

(1) MOMENTARY SWITCH

(1) LOCK TIMER

(2) 3/4” DELRON SPACERS

(2) 1/4”-20 x1.75” CARRIAGE BOLTS

(2) 1/4”-20 WHIZ NUTS

Installation Instructions
Partition M4/AR15 Mount- GR2-ARH-BLM

2. Insert the 1.75” carriage bolts thru now open 
holes in partition, place delron spacers on bolts, 
and position weapon mount on these bolts with 
tabs of weapon mount rail down.  
Secure to partition with the whiz nuts.

GR2 - ARH - BLM

(2) 1/4”-20x1.5” CARRIAGE BOLTS

2. Insert the 1.5” carriage bolts thru now open holes 
in partition, place delron spacers on bolts, and 
position weapon mount on these bolts with tabs of 
weapon mount rail down. Secure to partition with 
the whiz nuts.

1. Start by removing the (2) Factory 1/4” nuts and 
carriage bolts using a 7/16“ wrench or socket. 
Remove the ones on the top section in the outer 
position of window frame on partition.

3. Tighten hardware completely.

INSTALLATION INSTRUCTIONS

209 W. EASY ST., ROGERS AR 72756  •  www.EVERYTHINGBUTLIGHTS.com

PATRIOT PRODUCTS USA     LAW ENFORCEMENT PRODUCT & VEHICLE SPECIALISTS
A Division of Patriot Enterprises USA

1. Start by removing the (2) Factory 1/4” nuts and 
carriage bolts using a 7/16“ wrench or socket. 
Remove the ones on the top section in the outer 
position of window frame on partition.

3. Tighten hardware completely.

PARTS LIST
(1) ASSEMBLED WEAPON MOUNT

(1) MOMENTARY SWITCH

(1) LOCK TIMER

(2) 3/4” DELRON SPACERS

(2) 1/4”-20 x1.75” CARRIAGE BOLTS

(2) 1/4”-20 WHIZ NUTS

Installation Instructions
Partition M4/AR15 Mount- GR2-ARH-BLM

2. Insert the 1.75” carriage bolts thru now open 
holes in partition, place delron spacers on bolts, 
and position weapon mount on these bolts with 
tabs of weapon mount rail down.  
Secure to partition with the whiz nuts.

GR2 - ARH - BLM

(2) 1/4”-20x1.5” CARRIAGE BOLTS

2. Insert the 1.5” carriage bolts thru now open holes 
in partition, place delron spacers on bolts, and 
position weapon mount on these bolts with tabs of 
weapon mount rail down. Secure to partition with 
the whiz nuts.

1. Start by removing the (2) Factory 1/4” nuts and 
carriage bolts using a 7/16“ wrench or socket. 
Remove the ones on the top section in the outer 
position of window frame on partition.

3. Tighten hardware completely.

Gun Rack - Horiz ontal Mount to Partition Window

Installation Instructions

475-0001 - GR2-AR-BLM-H   |   475-0054 - GR2-AR-HK-H   |   475-0217 - GR2-AR-BLM-H-Grip-Out

If you have questions or need further assistance please call Technical Support: 1.877.455.6886

®

209 W. EASY ST., ROGERS, AR 72756 •JOTTOPUBLICSAFETY.COM • 2/25
Jotto Desk™ is a patented product and Registered Trademark of Assembled Products™ Corporation.  

Specifications subject to change without notice. 
050-0125-00


